EXAMINATION DEPARTMENT

Date: SEPT-2017

Reference: EXAM / JPP / BITIC / MESRA / PHD_AC-Pre-Ph.D / (SP/17)/ 2016-2017

By the order of Examination committee, the following is the result of PHD_AC - Pre-Ph.D Semester held in the month of APRIL-2017

SESSION : 2	016-2017 CLASS : PHD_AC	2		BR	ANCH	: ARC	HITECT	URE				SEM	ESTER	/ TRIME	STER	: Pre-F	h.D		MONTH O	F EXAM :	APRIL	-2017
ROLL NO	NAME	U L	TNT2	101(4)		5002(3)		5004(3)		2023(3)		5004(3)	MBA	6001(3)	MPE2	2009(3)	MPE5	5004(3)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
PHD/63/2008	OM PRAKASH PANDEY	U	-	-	A+	27.0	A+	27.0	-	-	-	-	-	-	-	-	-	-	54.0	6.0	9.00	_
1110/03/2000	OWITKARASHTARABET	L	-	-	-	-	-	-	-	-	-	-	-		-	-	-	-	34.0	0.0	7.00	
PHD/AP/10004/13	SONALI BISWAR	U	D	16.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	16.0	4.0	4.00	
FHD/AF/10004/13	SONALI BISWAR	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-			10.0	4.0	4.00	_
DUD/ME/10051/16	SHAILESH KUMAR SARANGI	U	-	-	-	-	-	-	A	24.0	Ex	30.0	A	24.0	-	-		-	78.0	9.0	8.67	
FHD/ME/10031/10	SHAILESH KUWAK SAKANGI	L	-	-	-	-	-	-	-	-	-	-	-		-	-			/8.0	9.0	8.07	_
PHD/PE/10001/16	DOOLA VERMA	U	-	-	-	-	-	-	-	-	-	-	-	-	-	-	Ex	30.0	30.0	3.0	10.00	
PHD/PE/10001/16	POOJA VERNIA	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	30.0	3.0	10.00	-
		П														24.0						

TNT2101(4) : CHARACTERIZATION OF NANOSTRUCTURES MME5002(3) RESEARCH METHODOLOGY MME5004(3) : LITERATURE REVIEW COMPUTATIONAL FLUID DYNAMICS MME2023(3) MME5004(3) : LITERATURE REVIEW MBA6001(3) RESEARCH METHODOLOGY MPE2009(3) : MAINTENANCE TECHNOLOGY MPE5004(3) : LITERATURE REVIEW

Controller of Examinations

24.0

Disclaimer

Disclaimer

PHD/PE/10052/13 RAM BABU VERMA

EXAMINATION DEPARTMENT

Date: SEPT-2017

Controller of Examinations

Reference: EXAM / JPP / BITIC / MESRA / PHD AC-Pre-Ph.D / (SP/17) 2016-2017

By the order of Examination committee, the following is the result of PHD AC - Pre-Ph.D Semester held in the month of APRIL-2017

SESSION : 2	016-2017 CLASS : PHD_AC	2		BRA	NCH :	ARCH	ITECTU	RE				SEM	ESTER .	/ TRIME	STER	: Pre-P	h.D		MONTH O	F EXAM :	APRIL	-2017
		U	MBA	1005(3)	MBA	1007(3)	MBA2	2007(3)	MBA2	2003(3)	MBA	2011(3)	MBA:	5004(3)	MBA:	3017(3)	MBA:	3021(3)		mom.r.		
ROLL NO	NAME	L	MBA3	047(3)	MBA	3065(3)	MBA3	3073(3)	MBA3	3093(3)	MBA:	3099(3)	MBA:	5002(3)	MBA:	5006(3)	MBA	6001(3)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
		Ш	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
PHD/MB/10051/16	AFZAL HASSAN KHAN	U	-	-	-	-	B+	21.0	A	24.0	A+	27.0	-	-	-	-	-	-	93.0	12.0	7.75	_
1118/118/10031/10	THE THISSEN THE IN	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	B+	21.0	75.0	12.0	7.75	
PHD/MB/10053/15	DIDIT KANT RAVI	U	-	-	-	-	-	-	-	-	-	-	С	15.0	-	-	-	-	42.0	9.0	4.67	
111D/WB/10033/13	DITT KANT KAVI	L	-	-	-	-	-	-	-	-	-	-	D	12.0	С	15.0	-	-	42.0	7.0	4.07	
PHD/MB/10055/16	MANISH MOHAN BARAL	U	-	-	-	-	-	-	-	-	A	24.0	-	-	-	-	-	-	114.0	15.0	7.60	
111D/WB/10033/10	MANISH WOHAN BAKAL	L	-	-	A	24.0	A	24.0	-	-	-	-	В	18.0	-	-	Α	24.0	114.0	13.0	7.00	
PHD/MB/10056/16	SAVITA SODHI	U	-	-	-	-	-	-	-	-	-	-	-	-	_	-	-	-	00.0	0.0	0.00	_
111D/WB/10030/10	SAVITA SODIII	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	00.0	0.0	0.00	
PHD/MB/10057/16	DICHA DUID	U	A+	27.0	-	-	-	-	-	-	-	-	A+	27.0	-	-	-	-	126.0	15.0	8.40	_
111D/WIB/10037/10	RICHA DITIK	L	A	24.0	-	-	-	-	A	24.0	-	-	-	-	-	-	A	24.0	120.0	15.0	0.40	
PHD/MB/10058/16	MOHD SADIO	U	-	-	A+	27.0	-	-	-	-	-	-	A+	27.0	A+	27.0	-	-	129.0	15.0	8.60	
111D/WIB/10038/10	MOID. SADIQ	L	-	-	-	-	-	-	-	-	A	24.0	-	-	-	-	A	24.0	129.0	15.0	3.00	
DUD/MD/10050/16	AKANSHA CHOUBEY	U	-	-	-	-	-	-	-	-	-	-	A+	27.0	A+	27.0	A	24.0	126.0	15.0	8.40	_
111D/MD/10039/10	AKANSHA CHOUDE I	L	-	-	-	-	-	-	-	-	A+	27.0	-	-	-	-	B+	21.0	120.0	15.0	0.40	_

MBA1005(3) : ORGANIZATIONAL BEHAVIOUR MBA3047(3) PERFORMANCE MANAGEMENT SYSTEM MBA1007(3) : MARKETING MANAGEMENT MBA3065(3) SYSTEM ANALYSIS AND DESIGN MBA2007(3) : MANAGERIAL ECONOMICS MBA3073(3) SUPPLY CHAIN MANAGEMENT MBA2003(3) : HUMAN RESOURCE MANAGEMENT MBA3093(3) : STRATEGIC HUMAN RESOURCE MANAGEMENT

MBA2011(3) : STRATEGIC MANAGEMENT MBA3099(3) : ADVERTISING AND MARKETING COMMUNICATION MBA5004(3) : LITERATURE REVIEW MBA5002(3) : PROJECT BASED LITERATURE REVIEW

MBA3017(3) : CONSUMER BEHAVIOUR MBA5006(3) : TERM PAPER III

MBA3021(3) : INTERNATIONAL MARKETING MBA6001(3) RESEARCH METHODOLOGY

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card.

Disclaimer

Original Grade card will be issued by the institute in due time.

Disclaimer

EXAMINATION DEPARTMENT

Date: SEPT-2017

Reference: EXAM / JPP / BITIC / MESRA / PHD_AC-Pre-Ph.D / (SP/17)/ 2016-2017

By the order of Examination committee, the following is the result of PHD_AC - Pre-Ph.D Semester held in the month of APRIL-2017

SESSION : 201	6-2017 CLASS : PHD_AC		, and the second	BRANG	CH : .	ARCHITI	ECTURE			·	S	EMESTE	R / TRI	MESTEF	R : 1	Pre-Ph	.D		MONTH	OF EXAM	: APRII	-2017
ROLL NO	NAME	U L	MBA	6001(3)	MEC	1011(3)	MME	2023(3)	MSR2	2009(3)	MSR2	2029(3)	MSR5	5001(3)	-	-	-		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
DUD/SED/10051/16	PAWAN KUMAR KARN	U	B+	21.0	С	15.0	-	-	-	-	A	24.0	A+	27.0	-	-	-	-	87.0	12.0	7.25	
111D/SER/10031/10	I AWAN KUMAK KAKN	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	87.0	12.0	1.23	_
PHD/SER/10052/16	MENCH DINEGH	U	B+	21.0	-	-	-	-	Ex	30.0	-	-	A+	27.0	-	-	-	-	78.0	9.0	8.67	
PHD/SEK/10032/10	MENGU DINESH	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	/8.0	9.0	8.07	-
DLID/SED /10052/16	MD. GULAM SARWAR	U	A	24.0	С	15.0	-	-	-	-	B+	21.0	A	24.0	-	-	-	-	84.0	12.0	7.00	
PHD/SER/10033/10	MD. GULAM SARWAR	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	84.0	12.0	7.00	-
PHD/SER/10054/16	RAMBABU MOKATI	U	B+	21.0	-	-	B+	21.0	-	-	В	18.0	С	15.0	-	-	-	-	75.0	12.0	6.25	
PHD/SER/10034/10	RAMBABU MUKATI	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	/3.0	12.0	0.23	-

MBA6001(3) : RESEARCH METHODOLOGY MEC1011(3) : PROBABILITY MODELS & STOCHASTIC PROCESSES COMPUTATIONAL FLUID DYNAMICS MME2023(3) IGNITION AND IGNITION DEVICES MSR2009(3) EXPERIMENTAL AERODYNAMICS MSR2029(3) MSR5001(3) RESEARCH METHODOLOGY

Controller of Examinations

Disclaimer

Disclaimer

EXAMINATION DEPARTMENT

Date: SEPT-2017

Reference: EXAM / JPP / BITIC / MESRA / PHD AC-Pre-Ph.D / (SP/17) / 2016-2017

By the order of Examination committee, the following is the result of PHD_AC - Pre-Ph.D Semester held in the month of APRIL-2017

SESSION : 20	16-2017 CLASS : PHD_AC			BRAN	CH :	ARCHIT	TECTURI	E				SEMI	ESTER.	/ TRIMI	ESTER	: Pre-l	Ph.D		MONTH C	F EXAM :	APRIL	-2017
ROLL NO	NAME	U L		5001(3) 009(3)	MCL2	2037(3)	MCL50	002(3)	SAC1	011(3)	SAC2	003(3)	SAC2	2005(3)	SAC2	109(3)	SAC5	-	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
PHD/AC/10051/16	AMULYA PRASAD PANDA	U	A	24.0	-	-	-	-	A	24.0	-	-	A+	27.0	A+	27.0	A+	27.0	129.0	15.0	8.60	
111D/AC/10031/10	AWOLTATRASADTANDA	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	129.0	15.0	8.00	
DIID/AC/10054/14	CADIVA VEDMA	U	-	-	-	-	-	-	-	-	B+	21.0	B+	21.0	-	-	-	-	42.0	6.0	7.00	
PHD/AC/10054/14	SARIKA VERMA	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	_	42.0	6.0	7.00	_
DUD/CHE/10051/16	DADANDEV	U	Α	24.0	Α	24.0	-	-	-	-	-	-	B+	21.0	-	-	-	-	02.0	12.0	7.75	
PHD/CHE/10051/16	BABAN DE Y					$\overline{}$	$\overline{}$									$\overline{}$	$\overline{}$	$\overline{}$	93.0	12.0	/./5	-

: RESEARCH METHODOLOGY : POLYMER COMPOSITE MBA6001(3) TPT2009(3) MCL2037(3) : ADVANCES IN NANO TECHNOLOGY : LITERATURE REVIEW MCL5002(3) SAC1011(3) : ENVIRONMENTAL CHEMISTRY SAC2003(3) : SYNTHETIC ORGANIC CHEMISTRY : ADVANCED ANALYTICAL TECHNIQUES SAC2005(3) SAC2109(3) : ENVIRONMENTAL MONITORING & CONTROL : LITERATURE REVIEW SAC5004(3)

24.0

Controller of Examinations

Disclaimer

Disclaimer

EXAMINATION DEPARTMENT

Date : SEPT-2017

NITISH KUMAR GURU

Reference: EXAM / JPP / BITIC / MESRA / PHD_AC-Pre-Ph.D / (SP/17)/ 2016-2017

By the order of Examination committee, the following is the result of PHD_AC - Pre-Ph.D Semester held in the month of APRIL-2017

SESSION : 201	6-2017 CLASS : PHD_AC			BRANC	Н:.	ARCHITE	CTURE				SEN	MESTER	/ TRIN	1ESTI	ER :	Pre-	Ph.D		MONTH	I OF EXAM	: APRI	L-2017
ROLL NO	NAME	U L	SAM2	2109(4)	SAM	3017(3)	MMA	1105(3)	SAM:	5004(3)	MBA	5001(3)				-		-	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
		Ш	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
PHD/AM/10001/16	DIVVA	U	-	-	-	-	-	-	A	24.0	-	-	-	-	-	-	-	-	24.0	3.0	8.00	
111D/AW/10001/10	DIVIA	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	24.0	3.0	8.00	

SAM2109(4)	: ADVANCED NUMERICAL METHODS & DIFFERENCE	-	:
SAM3017(3)	: EQUATIONS	-	:
MMA1105(3)	: THEORY OF ELASTICITY	-	:
SAM5004(3)	: COMPUTATIONAL MATHEMATICS	-	:
MBA6001(3)	: LITERATURE REVIEW	-	:
-	: RESEARCH METHODOLOGY	-	:
-	:	-	:

Controller of Examinations

8.25

132.0

Disclaimer

Disclaimer

PHD/AM/10051/16

EXAMINATION DEPARTMENT

Date: SEPT-2017

Reference: EXAM / JPP / BITIC / MESRA / PHD_AC-Pre-Ph.D / (SP/17)/ 2016-2017

By the order of Examination committee, the following is the result of PHD_AC - Pre-Ph.D Semester held in the month of APRIL-2017

SESSION : 2016-	2017 CLASS : PHD_AC		В	RANCH	: ARC	HITECTU	RE					SEM	[ESTE	R / TR	IMEST	ER :	Pre-	Ph.D	MON	TH OF EXAM	: APR	IL-2017
ROLL NO	NAME	U L		5002(3)		5004(3) -	- CP	- -	- -	DT	- CD		- CD		- -	рт	CD	-	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
		\square	GR.	PT.	GR.	P1.	GR.	P1.	GR.	PT.	GR.	PT.	GR.	PT.	GK.	PT.	GR.	PT.				
PHD/AR/10001/13	UMESH CHANDRA MISHRA	U	B+	21.0	B+	21.0	-	-	-	-	-	-	-	-	-	-	-	-	42.0	6.0	7.00	_
111D/AR/10001/13	OWLSH CHANDRA WISHRA	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	72.0	0.0	7.00	_

MUP5002(3) MUP5004(3)	: LITERATURE REVIEW : LITERATURE REVIEW ON PROJECT WORK	-	:
-	:	-	:
-	:	-	:
-	:	-	:
-	:	-	:
-	:	_	:
-	:	-	

Controller of Examinations

Disclaimer

Disclaimer

EXAMINATION DEPARTMENT

Date : SEPT-2017

Reference: EXAM / JPP / BITIC / MESRA / PHD_AC-Pre-Ph.D / (SP/17)/ 2016-2017

By the order of Examination committee, the following is the result of PHD_AC - Pre-Ph.D Semester held in the month of APRIL-2017

SESSION : 20	016-2017 CLASS : PHD_AC			BRAN	СН :	ARCHI	TECTU	RE				SEMES	TER / T	RIMESTI	ER :	Pre-F	h.D		MONTH	I OF EXAM	: APRII	2017
ROLL NO	NAME	U L	DBT1	002(3)	DBT2	2006(3)	DBT	2016(3)	DBT	2022(3)	DBT	5002(3)	MBA	5001(3)	-			-	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
PHD/BE/10051/16	SNEHI SOV	U	A+	27.0	-	-	-	-	B+	21.0	A+	27.0	B+	21.0	-	-	-	-	96.0	12.0	8.00	
FHD/BE/10031/10	SINERI SOT	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	90.0	12.0	8.00	_
DIID/DE/10052/16	ANUBAMA CIDIH	U	Α	24.0	A+	27.0	A+	27.0	-	-	A+	27.0	B+	21.0	-	-	-	-	126.0	15.0	0.40	
PHD/BE/10052/16	ANUPAMA GIDHI	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	126.0	15.0	8.40	_
PHD/BT/10052/15	RIDDHI PRABHA	U	-	-	-	-	-	-	-	-	A	24.0	-	_	-	-	-	-	24.0	3.0	8.00	_

DBT1002(3)	: TECHNIQUES IN MALECULAR BIOLOGY & GENETIC ENGG.	-	:
DBT2006(3)	: PLANT BIOTECHNOLOGY	-	:
DBT2016(3)	: FUNCTIONAL GENOMICS & PROTEOMICS	-	:
DBT2022(3)	: GENERAL MICROBIOLOGY	-	:
DBT5002(3)	: LITERATURE REVIEW	-	:
MBA6001(3)	: RESEARCH METHODOLOGY	-	:
-	:	-	:

Controller of Examinations

Disclaimer

Disclaimer

EXAMINATION DEPARTMENT

Date: SEPT-2017

Reference: EXAM / JPP / BITIC / MESRA / PHD AC-Pre-Ph.D / (SP/17) / 2016-2017

By the order of Examination committee, the following is the result of PHD AC - Pre-Ph.D Semester held in the month of APRIL-2017

SESSION : 20	16-2017 CLASS : PHD_AC			BRAN	CH :	ARCHI	TECTUI	RE				SEME	STER /	TRIME	STER	: Pre-I	Ph.D		MONTH (OF EXAM :	APRIL	-2017
ROLL NO	NAME	U L	MBA6	5001(3) 002(3)		1119(3)	MCE	1125(3)	MCL	1009(3)	SAC	2109(3)	TCS20	001(3)	TES1	003(3)	TES2	001(3)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
PHD/CEE/10001/16	MANISH KUMAR	U	-	-	-	-	-	-	A	24.0	-	-	-	-	-	-	-	-	24.0	3.0	8.00	_
THE/CEE/10001/10	WINDII KOWIK	L	-	-	-	-	-	-	-	-	-	-	-				-	-	24.0	3.0	0.00	
PHD/CEE/10051/15	RAM KISHORE SINGH	U	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	27.0	3.0	9.00	_
111D/CEE/10031/13	KAW KISHOKE SHVGH	L	A+	27.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	27.0	3.0	7.00	_
PHD/CEE/10051/16	MANI MOHAN	U	B+	21.0	A+	27.0	A+	27.0	-	-	-	-	-	-	-	-	-	-	105.0	12.0	8.75	_
111D/CLE/10031/10	WAN WOTAN	L	Ex	30.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	103.0	12.0	0.75	
PHD/CEE/10052/15	SUBODH KUMAR SUMAN	U	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	24.0	3.0	8.00	_
111D/CLE/10032/13	SUBODII KUMAK SUMAN	L	Α	24.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	24.0	3.0	0.00	_
PHD/CEE/10052/16	SHWETA KIIMADI	U	B+	21.0	-	-	-	-	-	-	A	24.0	-	-	B+	21.0	-	-	90.0	12.0	7.50	_
111D/CEE/10032/10	SIIWETA KUWAKI	L	A	24.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	90.0	12.0	7.50	
PHD/CEE/10052/16	MD ZEYAUL HAQUE	U	В	18.0	-	-	-	-	-	-	-	-	-	-	-	-	В	18.0	57.0	9.0	6.33	_
111D/CEE/10033/10	WID ZETAUL HAQUE	L	-	-	B+	21.0	-	-	-	-	-	-	-	-	-	- 1	-	-	37.0	7.0	0.33	-

: RESEARCH METHODOLOGY MBA6001(3) TES6002(3) : LITERATURE REVIEW MCE1119(3) : PRESTRESSED CONCRETE TRS1015(3) REMOTE SENSING & GIS FOR SPATIAL DATA ANALYSIS MCE1125(3) : LIMITE STATE DESIGN OF STRUCTURES MCL1009(3) : MATERIAL SCIENCE & ENGINEERING SAC2109(3) : ENVIRONMENTAL MONITORING & CONTROL TCS2001(3) : DATA & COMPUTER COMMUNICATION NETWORKS TES1003(3) : ENVIRONMENTAL CHEMISTRY AND MICROBIOLOGY TES2001(3) : SOLID WASTE MANAGEMENT

Controller of Examinations

Disclaimer

Disclaimer

EXAMINATION DEPARTMENT

Date: SEPT-2017

Pre-Ph D

30.0

30.0

24.0

27.0

27.0

_

A+

-

27.0

30.0

102.0

120.0

99.0

105.0

Ex

Ex

Α

A+

A+

24.0

24.0

Α

Α

SEMESTER / TRIMESTER

Reference: EXAM / JPP / BITIC / MESRA / PHD AC-Pre-Ph D / (SP/17) 2016-2017

SESSION: 2016-2017

PHD/CS/10008/16

PHD/CS/10051/16

PHD/CS/10052/16

PHD/CS/10053/16

PHD/CS/10054/16

BHARAT BHUSHAN

SHALINI MAHATO

PRASHANT PRANAV

RADHAMADHAB DALAI

RAJENDRANI MUKHEREE

By the order of Examination committee, the following is the result of PHD AC - Pre-Ph.D Semester held in the month of APRIL-2017

BRANCH

ARCHITECTURE

-

24.0

21.0

-

-

Α

A+

Α

24.0

27.0

24.0

CLASS : PHD AC

MBA6001(3) MSE1003(3) MSE2001(3) TCS2021(3) TCS2025(3) TCS2037(3) TCS5002(3) TIT1013(3) TOTAL CREDIT TOTAL ROLL NO NAME SGPA REMARKS TIT1027(3) TIT1033(3) TIT1035(3) TCE5002(3) TIT1015(3) TIT2027(3) POINTS **CREDITS** PT. GR. PT. GR. GR PT. GR. PT. GR. PT. GR GR. PT. PT. PT. GR. _ _ Ex 30.0 _ _ PHD/CS/10001/16 MONIKA KUMARI 30.0 3.0 10.00 _ A+27.0 PHD/CS/10002/16 ANKITA 27.0 3.0 9.00 27.0 A+ PHD/CS/10003/16 AMIT KUMAR KESHRI 27.0 3.0 9.00 27.0 -A+--PHD/CS/10004/16 PRIYANKA KUMARI 27.0 3.0 9.00 _ _ _ 27.0 A+_ PHD/CS/10005/16 SANDIP KUMAR SINGH MODAK 27.0 3.0 9.00 A+27.0 PHD/CS/10006/16 DEEPAK KUMAR 27.0 3.0 9.00 27.0 A+ PHD/CS/10007/16 ANNU PRIYA 27.0 3.0 9.00

MBA6001(3)	: RESEARCH METHODOLOGY	TIT1015(3)	: CRYPTOGRAPHY
MSE1003(3)	: OBJECT ORIENTED MODELLING & DESIGN	TIT1027(3)	: DATA MINING AND WAREHOUSING
MSE2001(3)	: SOFTWARE DESIGN & TESTING	TIT1033(3)	: SOFT COMPUTING
TCS2021(3)	: PATTERN RECOGNITION & IMAGE ANALYSIS	TIT1035(3)	: BIG DATA ANALYSIS
TCS2025(3)	: MOBILE COMPUTING	TIT2027(3)	: NATURAL LANGUAGE PROCESSING

24.0

24.0

24.0

24.0

Α

Α

Α

Α

Α

B+

TCS2037(3) : DESIGN & ANALYSIS OF PARALLEL ALGORITHMS TCE5002(3) : LITERATURE REVIEW TCS5002(3) TIT1013(3) : COMPUTER ALGORITHMS

Disclaimer

: LITERATURE REVIEW

A+

27.0

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Disclaimer

Original Grade card will be issued by the institute in due time.

3.0

12.0

15.0

12.0

12.0

10.00

8.50

8.00

8.25

8.75

Controller of Examinations

MONTH OF EXAM

APRIL-2017

EXAMINATION DEPARTMENT

Reference: EXAM / JPP / BITIC / MESRA / PHD AC-Pre-Ph.D / (SP/17) / 2016-2017

By the order of Examination committee, the following is the result of PHD AC - Pre-Ph.D Semester held in the month of APRIL-2017

Date :

SESSION : 2	2016-2017 CLASS: PHD_AC BRANCH: ARCHITECTURE											SEM	ESTER	/ TRIME	MONTH OF EXAM : APRIL-2017							
1	NAME		MBA6001(3) MEC2127(3)		MEC1011(3) MEC2141(3)		MEC1019(3) MEC2163(3)		MEC1103(3) MEC5002(3)		` '		MEC2011(3) MEC5006(3)		MEC2019(3) MEC1021(3)		MEC:	2125(3)				
ROLL NO																	MEC1041(3)		TOTAL CREDIT POINTS	CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
PHD/35/09	PRIYANK SAXENA	U	-	-		-	-		-	-	-	-	-	-		-	-	-	72.0	9.0	8.00	_
		L	-	-	-	-	-	-	A	24.0	A	24.0	Α	24.0		-	-	-				
PHD/EC/10051/16	PAYAL BHARDWAJ	U	С	15.0	-	-	-	-	-	-	-	-	-	-	- D	12.0	- В	18.0	45.0	9.0	5.00	-
		II	B+	21.0	В	18.0	_								_ D	12.0	В.	18.0			<u> </u>	
PHD/EC/10052/16	RAMPRAVESH KUMAR	L	-	-	A	24.0	-		_	_	С	15.0	_		-	_	<u> </u>	<u> </u>	78.0	12.0	6.50	-
		U	A	24.0	-	-	-	-	-	-	-	-	A	24.0	-	-	-	-	102.0	12.0	8.50	-
PHD/EC/10053/16	BISWAJIT KARAN	L	-	-	-	-	A+	27.0	-	-	A+	27.0	-	-	-	-	-	-				
PHD/EC/10054/16	ABHISHEK KUMAR	U	B+	21.0	-	-	-	-	-	-	-	-	-	-	B+	21.0	A+	27.0	96.0	12.0	8.00	-
111D/EC/10034/10		L	-	-	-	-	-	-	-	-	A+	27.0	-	-	-	-	-	-				
PHD/EC/10055/16	SATYAJIT MAHAPATRA	U	A	24.0		-	-		-	-	B+	21.0	B+	21.0			-	-	93.0 12.0	12.0	7.75	-
		L	-	-	-	-	-	-	-	-	A+	27.0	-	-		-	-	-				
PHD/EC/10056/16	ARVIND KUMAR	U	A	24.0	B+	21.0	-	-	-	-	-	-	-	-		-	-	-	102.0	12.0	8.50	-
		L	-	-		-	Ex	30.0	-	-	A+	27.0	-	-		-	-	-				
PHD/EC/10057/13	MADHU KUMARI RAY	U	-	-	-	-	-	-	B+	21.0	-	-	-	-	-	-	-	-	21.0	3.0	7.00	-
		L	- B+	21.0	-	-	-	-	-	-	- B+	21.0	-	<u>-</u>	-	<u>-</u>	-	-				
PHD/EC/10057/16	TUSAR KANTI DASH	ī	B+	21.0		-	- B+	21.0		-	A+	27.0		-	-	<u> </u>	<u> </u>	-	90.0	12.0	7.50	-
		U	_	_		_	-	-	_		- A	-	_		-			<u> </u>			0.00	
PHD/EC/10058/16	NISHAT AAFREEN	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		00.0	0.0		-
DIID/EC/100/0/12	CLD (A DIL CA DIL A D	U	-	-	-	-	-	-		-	D	12.0	-	-	-	-	-	-	12.0	3.0	4.00	-
PHD/EC/10060/13	SUMABH SARKAR	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-				
PHD/EC/1052/10	SONALI KUMARI	U	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	00.0	3.0	0.00	_
1112, EC/1032/10	SUNALI KUMARI		F	0.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	03.0	5.0	0.00	

MBA6001(3)	: RESEARCH METHODOLOGY	MEC2127(3)	: MICROWAVE INTEGRATED CIRCUITS
MEC1011(3)	: PROBABILITY MODELS & STOCHASTIC PROCESSES	MEC2141(3)	: WIRELESS SIGNAL PROPAGATION FADING
MEC1019(3)	: MICROELECTRONIC DEV. & CIRCUITS	MEC2163(3)	: SPEECH PROCESSING AND RECOGNITION
MEC1103(3)	: VLSI DESIGN & APPLICATION	MEC5002(3)	: RESEARCH METHODOLOGY
MEC2001(3)	: ADVANCED DIGITAL SIGNAL PROCESSING	MEC5004(3)	: LITERATURE REVIEW

MEC2001(3) : ADVANCED DIGITAL SIGNAL PROCESSING MEC5004(3) : LITERATURE REVIEW
MEC2011(3) : DIGITAL IMAGE PROCESSING TECHNIQUES MEC5006(3) : ADVANCEMENT IN ANTENNA DESIGN USED FOR WIRELESS

MEC2019(3) : MICRO ELECTRO MECHANICAL SYSTEMS MEC1021(3) : COMM.
MEC2125(3) : NUMERICAL TECHNIQUES IN ELECTROMAGNETICS MEC1041(3) ANTEN

ANTENNAS & DIVERSITY

SATELLITE BASED WIRELESS COMMUNICATION

Controller of Examinations

Disclaimer

Disclaimer

EXAMINATION DEPARTMENT

Reference: EXAM / JPP / BITIC / MESRA / PHD AC-Pre-Ph.D / (SP/17) 2016-2017

By the

e order of Examination committee,	the following is the result of PHD_A	AC - Pre-Ph.D Semester held in the month of APRIL-2017	Date :	SEPT-2017

SESSION : 2	2016-2017 CLASS : PHD_AC	:					SE	MESTE	R / TRIM	MONTH OF EXAM : APRIL-2017												
ROLL NO	NAME		MBA6001(3) TES2011(3)		MEE2101(4)		MEE2115(3)		MEE2123(3)		MEE2153(3)		MEE2155(3)		MEE5004(3)		MEE 5006(3)		TOTAL CREDIT POINTS	TOTAL CREDITS S	SGPA	REMARKS
		Ш	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
PHD/EE/10006/16	PRABHAT RANJAN TRIPATHI	U	-	-	-	-	A	24.0	-	-	A	24.0	A	24.0	-	-	A+	27.0	123.0	15.0	8.20	-
111D/LE/10000/10		L	A	24.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-				
DHD/EE/10022/16	PHD/EE/10032/16 SHILPEE PRASAD	U	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	00.0	0.0	0.00	-
FHD/EE/10032/10		L	-	-	-	-	-	-	-	-	-	-	-	-	-	-		-			0.00	
PHD/EE/10051/16	CIMI DEE	U	A+	27.0	A	32.0	-	-	A	24.0	-	-	-	-	A	24.0	-	-	107.0	12.0	8.23	
PHD/EE/10051/16	SHILPEE		-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		107.0	13.0	8.23	_

: RESEARCH METHODOLOGY TES2011(3) : INDUSTRIAL POLLUTION & CONTROL MBA6001(3) MEE2101(4) : SOFT COMPUTING TECHNIQUES MEE2115(3) : EMBEDDED SYSTEM & APPLICATIONS MEE2123(3) : NONLINEAR CONTROL SYSTEMS MEE2153(3) : CONTROL OF ELECTRICAL DRIVES : POWER ELECTRONICS APPLICATION MEE2155(3) MEE5004(3) : LITERATUR REVIEW MEE 5006(3) : CSI FOR PMBLDC

Controller of Examinations

Disclaimer

Disclaimer